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tidy()
broom
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qt(.975, df=129)
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# use pt() instead of pnorm()1
# need to specify df2
2*pt(-5.4548, df = 130-1, lower.tail = TRUE)3

[1] 2.410889e-07
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tidy() broom
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getwd()

getwd()1
[1] "/Users/niederha/Library/CloudStorage/OneDrive-OregonHealth&ScienceUniversity/teaching/BSTA 
511/F23/0_webpage/BSTA_511_F23"
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BodyTemperatures.csv

here() here here::here()

# read_csv() is a function from the readr package that is a part of the tidyverse1
library(here)   # first install this package2

3
BodyTemps <- read_csv(here::here("data", "BodyTemperatures.csv"))4
#                     location: look in "data" folder5
#                               for the file "BodyTemperatures.csv"6

7
glimpse(BodyTemps)8

Rows: 130
Columns: 3
$ Temperature <dbl> 96.3, 96.7, 96.9, 97.0, 97.1, 97.1, 97.1, 97.2, 97.3, 97.4…
$ Gender      <dbl> 1, 1, 1, 1, 1, 1, 1, 1, 1, 1, 1, 1, 1, 1, 1, 1, 1, 1, 1, 1…
$ HeartRate   <dbl> 70, 71, 74, 80, 73, 75, 82, 64, 69, 70, 68, 72, 78, 70, 75…
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here::here()
here::here()

here::here("folder_name", "filename")

here::here()

here
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t.test

BodyTemps

glimpse(BodyTemps)1
Rows: 130
Columns: 3
$ Temperature <dbl> 96.3, 96.7, 96.9, 97.0, 97.1, 97.1, 97.1, 97.2, 97.3, 97.4…
$ Gender      <dbl> 1, 1, 1, 1, 1, 1, 1, 1, 1, 1, 1, 1, 1, 1, 1, 1, 1, 1, 1, 1…
$ HeartRate   <dbl> 70, 71, 74, 80, 73, 75, 82, 64, 69, 70, 68, 72, 78, 70, 75…

(temps_ttest <- t.test(x = BodyTemps$Temperature,1
       # alternative = "two.sided",  # default2
       mu = 98.6))3

    One Sample t-test

data:  BodyTemps$Temperature
t = -5.4548, df = 129, p-value = 2.411e-07
alternative hypothesis: true mean is not equal to 98.6
95 percent confidence interval:
 98.12200 98.37646
sample estimates:
mean of x 
 98.24923 
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tidy() t.test
tidy() broom

tibble
gt() gt

tidy() pull()

$ tidyverse pull()
dplyr

%>%

tidy(temps_ttest) %>% 1
  gt()2

tidy(temps_ttest)$p.value  1
[1] 2.410632e-07 tidy(temps_ttest) %>% pull(p.value)1

[1] 2.410632e-07
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